NOTES

Equation (2) becomes

$$y = 2Cx^{2} + (y(1) - y(0) - 2C)x + y(0),$$

which is (5).

The final step is to check that no spurious solutions have been introduced [4, p. 26]. Substituting (5) into (1) gives an identity, which shows that there are none.

References

- 1. QuoteInvestigator.com, accessed December 4, 2021.
- 2. S. J. Kilner and D. L. Farnsworth, Characterisations of the parabola, Math. Gaz. 103 (November 2019) pp. 416-430.
- 3. F. W. J. Olver, D. W. Lozier, R. F. Boisvert, and C. W. Clark, NIST handbook of mathematical functions, Cambridge University Press (2010).
- 4. C. G. Small, Functional equations and how to solve them, Springer (2007).

10.1017/mag.2023.103 © The Authors, 2023 Published by Cambridge University Press Department of Mathematics, on behalf of The Mathematical Association 1000 East Henrietta Road, Monroe Community College, Rochester, NY, 14623 USA e-mail: skilner@monroecc.edu DAVID L. FARNSWORTH School of Mathematics and Statistics, 84 Lomb Memorial Drive,

Rochester Institute of Technology, Rochester, NY 14623 USA e-mail: dlfsma@rit.edu

107.32 A new inductive proof of the AM - GM inequality

In what follows, we denote by A_n and G_n the arithmetic and geometric means of *n* non-negative real numbers a_1, a_2, \ldots, a_n $(n \ge 1)$, that is,

$$A_n = \frac{a_1 + a_2 + \dots + a_n}{n}$$
 and $G_n = \sqrt[n]{a_1 a_2 \dots a_n}$.

Then the famous arithmetic mean - geometric mean inequality (see, e.g., [1, Subsection 2.1] and [2, Section 5]) states that

$$A_n \ge G_n,\tag{1}$$

where equality holds if, and only if, $a_1 = a_2 = \dots = a_n$.

Several proofs of the arithmetic mean-geometric mean inequality are known in the literature (see, e.g., [3]). It was used as the inductive hypothesis in [4, 5, 6, 7, 8].

497

STEVEN J. KILNER

Notice that in the well known "forward-backward induction proof" of the inequality (1), established in 1821 by A. L. Cauchy [9, p. 457] (also see [10, Chapter 4]), Cauchy showed that $A_{2^n} \ge G_{2^n}$ (n = 1, 2, ...), and then that the hypothesis $A_n \ge G_n$ implies that $A_{n-1} \ge G_{n-1}$.

The aim of this short Note is to provide a new inductive proof of the arithmetic mean - geometric mean inequality. This proof is based on the following lemma.

Lemma: The inequality

$$A_{2^n} \ge G_{2^n} \tag{2}$$

is true for all n = 1, 2, Moreover, the equality in (2) holds if, and only if, $a_1 = a_2 = ... = a_{2^n}$.

Proof: We proceed by induction on $n \ge 1$. The induction base is the inequality

$$\frac{a_1 + a_2}{2} \ge \sqrt{a_1 a_2},\tag{3}$$

which follows immediately from the inequality $(\sqrt{a_1} - \sqrt{a_2})^2 \ge 0$. Moreover, $A_2 = G_2$ if, and only if, $a_1 = a_2$.

Suppose that (2) is true for n = k and that the equality in (2) holds if, and only if, $a_1 = a_2 = \ldots = a_{2^k}$. Using the inequality (2) with n = k (the inductive hypothesis) with $(a_1 + a_2 + \ldots + a_{2^k})/2^k$ and $(a_{2^k+1} + a_{2^k+2} + \ldots + a_{2^{k+1}})/2^k$ instead of a_1 and a_2 , respectively, and then applying the inequality (3), we find that

$$\begin{split} A_{2^{k+1}} &= \frac{a_1 + a_2 + \dots + a_{2^{k+1}}}{2^{k+1}} \\ &= \frac{1}{2} \left(\frac{a_1 + a_2 + \dots + a_{2^k}}{2^k} + \frac{a_{2^k+1} + a_{2^k+2} + \dots + a_{2^{k+1}}}{2^k} \right) \\ &\geqslant \frac{1}{2} \left(\sqrt[2^k]{a_1 a_2 \dots a_{2^k}} + \sqrt[2^k]{a_{2^k+1} a_{2^k+2} \dots a_{2^{k+1}}} \right) \\ &\geqslant \frac{2^{k+1}}{a_1 a_2 \dots a_{2^{k+1}}} = G_{2^{k+1}}. \end{split}$$

Hence, $A_{2^{k+1}} \ge G_{2^{k+1}}$ and clearly, the equality holds if, and only if, $a_1 = a_2 = \dots = a_{2^{k+1}}$. This completes the inductive proof of Lemma.

Proof of the inequality (1): Applying the inequality (2) to 2^n non-negative real numbers $a_1, a_2, \ldots, a_n, \underbrace{G_n, \ldots, G_n}_{2^n - n}$ (where $G_n = \sqrt[n]{a_1 a_2 \ldots a_n}$, we find

that

$$\frac{1}{2^n} \left(a_1 + a_2 + \dots + G_n + \dots + G_n \right) \ge \sqrt[2^n]{a_1 a_2 \dots a_n (G_n)^{2^n - n}} = G_n,$$

498

NOTES

whence taking $a_1 + a_2 + \ldots + a_n = nA_n$, we immediately obtain the inequality $A_n \ge G_n$. Finally, since by the Lemma, in the above inequality the equality holds if, and only if, $a_1 = a_2 = \ldots = a_n = G_n$, it follows that $A_n = G_n$ is true if, and only if, $a_1 = a_2 = \ldots = a_n$.

References

- 1. D. S. Mitrinović, Handbook of means and their inequalities, Springer (1971).
- 2. Z. Cvetkovski, *Inequalities* (theorems, techniques and selected problems), Springer (2012).
- 3. P. S. Bullen, *Handbook of Means and their inequalities*, Dordrecht: Kluwer Academic Publishers (2003).
- K. M. Chong, An inductive proof of the A.M. G.M. inequality, Amer. Math. Monthly 83(2) (1976) pp. 87–88.
- 5. M. Genčev, On a proof of the inequality between the arithmetic and geometric means, *Amer. Math. Monthly* **125**(7) (2018) pp. 650–652.
- 6. D. Rüthing, Proofs of the arithmetic-geometric mean inequality, *Int. J. Math. Educ. Sci. Technol.* **13**(1) (1982) pp. 49–54.
- 7. Y. Uchida, A simple proof of the geometric-arithmetic mean inequality, *J. Inequ. Pure Appl. Math.* **9**(2) (2008), Article 56.
- 8. Z. Urmanian, An inductive proof of the geometric-arithmetic mean inequality, *Math. Gaz.* 84(499) (March 2008), pp. 101–102.
- 9. A. L. Cauchy, Cours d'analyse de l'École Royale Polytechnique, première partie, Analyse algébrique, Paris (1821).
- E. F. Beckenbach and R. Bellman, *Inequalities* (3rd edn.), Ergebnisse der Mathematik, Band 30, Springer-Verlag, Berlin and New York (1971).

 10.1017/mag.2023.104 © The Authors, 2023
 ROMEO MEŠTROVIĆ

 Published by Cambridge University Press
 Maritime Faculty Kotor,

 on behalf of The Mathematical Association
 University of Montenegro

 Dobrota 36, 85 330 Kotor, Montenegro
 e-mail: romeo@ucg.ac.me

107.33 On the antiderivatives of a monotone function and its inverse

As far as we know, computing antiderivatives of the inverse trigonometric functions and logarithmic function all are initial examples of integration by parts in calculus. In this Note we are motivated by the question that is it possible to compute the above mentioned antiderivatives without using integration by parts? The common property of these functions is their monotonicity. Based on this fact, we demonstrate a geometric argument to relate the antiderivatives of a monotone function f and its inverse f^{-1} . Although our geometric implication essentially carries ideas